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& RACO4 - Fiche d’entrainement

Calculatrice autorisée

| Compétence travaillée

| Difficulté | Socle commun | Nombre d’erreurs |

] Calculs avec les racines carrées \ * % \

| |

Calculer.

1) 3v/16 —2/64 =

2) —4v/90+3/90 =

3) 44/32+21/128 =

4) —4+/81 —4/144 =

5) —21/27 —3/48 =

6) —21/40 —2/40 =

7) —3v48 4248 =

8) 3v/54 —21/96 =

1)3v/16 —2/64 = —4

2) —44/90 +31/90 = —3+/10

3) 4v/32+2/128 =322

4) —4y/81 —4\/144 = —84

5) =227 —31/48 = —18V/3

6) —2v/40 —21/40 = —8/10

7) =348 +21/48 = —4/3

8) 3v/54 — 296 = /6
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